500 SizeFBLSystem

08-8506
" 80-03255 "6

. 61-3062 \ 7777777777777777777777777777777777777777777777777777777777777
08-0136 >8> ! o i
Gk | 06-0101Z = ' 08-0139S
80-0322 \ Y% AR _06-0101 | o |

08-0137 I 63-61245 |

: )7 82-621003 |

80-2506 (@ 60-6124 :

80-2503 © B |

91-0003 —Z 82-4101 |

79-0408

08-0139 3

81-0328 Note: 82-628501 are washers to 3

adjust the play along spindle. They
are optional.
02-0709

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,




Part No. Part Description Order No. Order Description Qty,
08-8506 FBL Rotor For 500 Size 08-8506 FBL Rotor For 500 Size 1 set/bag
08-8505 FBL Conversion Kit For 500 Size 08-8505 FBL Conversion Kit For 500 Size 1 set/bag
06-0101 | FBL Main Blade Grip For 500 Size | 06-0101Z | FBL Main Blade Grip For 500 Size | 1 pcs/bag
08-0107 FBL Rotor Hub For 500 Size 08-0107S FBL Rotor Hub For 500 Size 1 set/bag
08-0108 | FBL Balde Grip Arms For 500Size | 08-0108S | FBL Balde Grip Arms For 500Size 2 pcs/bag
08-0136 FBL Grip Arm Collar 08-0136 FBL Grip Arm Collar 2 pcs/bag
08-0137 FBL Arm Connector For 500 Size | 08-0147Z | FBL Arm Connector For 500 Size 1 pcs/bag
08-0139 FBL Drive Tube For 500 Size 08-0139S FBL Drive Tube For 500 Size 1 pcs/bag
02-0709 Ball Link 2.5mm 02-0709S Ball Link 2.5mm 10 pcs/bag
06-0109 Delrin Dampner 06-0109 Delrin Dampner 2 pcs/bag
06-0114 Spindle 06-0114 Spindle 3 pcs/bag
60-6124 Ball Bearings 6x12x4 60-6124 Ball Bearings 6x12x4 2 pcs/bag
61-3062 Flanged Beagring 3x6x2 61-3062 Flanged Beagring 3x6x2 4 set/bag
63-61245 Thrust Bearings 6x12x4.5 63-61245 Thrust Bearings 6x12x4.5 2 pcs/bag
79-0408 Button Head Bolts M4x8 79-0408 Button Head Bolts M4x8 10 pcs/bag
80-0320S Shanked Bolts M3x20 80-0320S Shanked Bolts M3x20 2 pcs/bag
80-0322 Cas Head Bolt M3x22 Shanked 80-0322 Cas Head Bolt M3x22 Shanked 2 pcs/bag
80-0325S Cap Head Screw M3x25 80-0325S Cap Head Screw M3x25 10 pcs/bag
80-2503 Cap Bolts M2.5x3 80-2503 Cap Bolts M2.5x3 2 pcs/bag
80-2506 Cap Head Bolts M2.5x6 80-2506 Cap Head Bolts M2.5x6 10 pcs/bag
80-2508 Cap Head Bolts M2.5x8 80-2508 Cap Head Bolts M2.5x8 10 pcs/bag
80-2516S Shanked Bolts M2.5x16 80-2516S Shanked Bolts M2.5x16 2 pcs/bag
81-0328 Set Screws M3x28 81-0328 Set Screws M3x28 10 pcs/bag
82-3504 Washers 3.2x5.2x0.4 82-3504 Washers 3.2x5.2x0.4 10 pcs/bag
82-4101 Washers 4x10x1 82-4101 Washers 4x10x1 10 pcs/bag
82-621003 Washers 6.2x10x0.3 82-621003 Washers 6.2x10x0.3 10 pcs/bag
82-628501 Washers 6.2x8.5x0.1 82-628501 Washers 6.2x8.5x0.1 10 pcs/bag
91-0003 Nylon Lock Nuts M3 91-0003 Nylon Lock Nuts M3 10 pcs/bag
91-0025 Nylon Lock Nuts M2.5 91-0025 Nylon Lock Nuts M2.5 10 pcs/bag
97-0715 Rubber Ring10x7x1.5 97-0715 Rubber Ring10x7x1.5 4pcs/bag




